


F) =22 +5x—1  aasllslactlgumgansi ¥

L))

B)

N Wl u

NG W

D) =

rd

find all critical numbers  ealslac !l gaoa assl

flx) =x* = 3x° + 2

3

A) -0
2
9

B) |
+
9

C) -
+

D) 0

e R 7




210 Adliad) gpandl) padl) S

Find the absolute extrema of the given function on each indicated interval.

0,2] f)=x-3x+1

a)(1,-1) Abs mini,(2,3) Abs maxi (2,3) ¢ (1-1) gl hat (3
b) (1,-1) Abs maxi, (2,3) Abs mini (2,3) 4illaa (5 s (1,-1) B 4ad (b
¢) (~3,-17) Abs mini,(-1,3) and (2,3) Abs maxi 1,3)s (2’3)%& (-3,-17) té.ﬁ*"a":" (c
d)(-3,-17) Abs mini ,(2,3) Abs maxi - 2 o
e o s 17 it

rd

ind the absolute extrema of the given function on each indicated interval.  Z)15) Zallagl! Soait mad) s

[0’ 2] f(x) — e—x-?

A) The abs minis ( 2. e~*) and the abs max is( 0.1)
(2,e7%) e s auadad g 0,]1) alle dad

B) The abs minis ( -2, e~?) and the abs max is( 0.1). ( 2. e~ %)
(-3,e7%) 3 5 juadad o(01),(2, %) alic Lok

The abs minis (0, 0 ) and the abs max is(-2. 4

C) e’) ,
(0.0) 880 5 jhua dad §(-2,4 8) alie daid
e—Z
The abs minis (0.0 ) and the abs max is(% pie )

D)

- . - 1 _2 - -
(0.0)xe ;s.ﬁ-ﬂ-ﬁe&..e(g-ez ) ol Aasd




Find the absolute extrema of the given function on each indicated interval.

allal) esasliilly wliil éslyio anol
y = x3— 3x + 2

y is decreasing on ( 1,1). y is increasing on(1,1) andon ( 1, 1)

A) (1,1)s58 2 dciliag (1,1)andon( 1, 1)3_5a o ol e adlal

B) y is increasing on (-co, —g)‘(ﬂ, oo ), y is decreasing on (—g. 0).
(_i‘;, 0).558 B Aailiag | (—oo,—g) , (0, oo JEARN (A sa e adial

y is increasingon (-2, 0)andon ( 0, o) , y is decreasing on ( -co, -2) andon ( 0, 2)

C) (—oo, -2) and on (0, 2)5_5al A ailiay (-2, 0) and on (0, co)3 &l (A& sl e adiall,

D y is increasing on (-oo,-1).(1, oo ), y is decreasing on (—1. 1).
) (—1,1)34880 A dciifay | (-00,-1), (100 )58 A syl Fon Allal ﬁ

ind the absolute extrema of the given function on each indicated interval. allal) esnsliilly aliill €alpis aagl

2
y =(x — 1)3

y is decreasing on (-oo, 1). y is increasing on( 1, )
(—DCL 1)3‘)5.“\ ?‘;‘ :\.q.d:maj (L oo)sﬂ'l o sl Faa 4dlal)

A)

y is increasing for all x .
B) X JS8 o) Faa Al

yisincreasingon(1,1)andon( 1, 1) ,yis decreasingon(1,1).

C) (1, 2) and on (0, 2)5_R&ll 2 uciliia (2, 0) and on (2, 1) 5&l1 2 say) Fa adlal)

D) y is increasing on (-oo0,-1),(-1, oo ), y is decreasing on (—1, 0).
(—1,3).55880 2 dalliiag | (-00,-1), (-1 00 )35 A sas) Joa adiall




Find the x coordinate of the maximum value, minimum value, or both of the function
Aall LagalS gi (5 juall daddll 5l alial) Aadll x A1aa) da

A x-- y = x* + 4x3 — 2

B) X

C) X=0,x=-3

D) X=0 /&&

Find the x coordinate of the minimum value of the function adlall g juall dagill x (Slaal aa g

y = tan"1(x?%)

A) Xx =0
B) X=m
) x=3
1
D) Nep

padiall pisc 3l enall




Find the inflection points of the function Adlall Cilaad) blas 2a

fx) =x =3x* +4x -1

concave down on (- oo, 1) and concave up on (1. co) . x = 1 is a point of inAection

A) o 5 . e
X =1 s Gillay) akis, (1, 00) sumill i GloY ads, (—o0 1) sl 3 Jiny Jas
B) concave up on (0, oo ) and concave down on (-co, 0) x = 0 is a point 0f inflection
X =0 aic callaas) ddaaiy (0, o0) sumll G oY Lassy ( —oo ,0) smll 8 JanY jass
c) Concave up for x > 2 and x <0, and is concave downfor 0 < x <2.

X =1 2ic Cillasi) ddiig(2, 00) 5 ( —o0,0) somall 8 Ao jaisy (0,2) 5wl 8 JinY e

D) Concave up for x < 1and x > 1. and concave down for 1 <x <1. x= 1.1 are points of inAection. ﬁ

Find the inflection points of the function A01Al Cilaasy) Jals Aa o

¥ = T

2 concave down on (- m.% ) and concave up on (i ®).x= ;Iis a point of inflection

= 1 e -1t d =1 =s 1 —— = K - 1 1 = ol -
’:'E Ak Ao ‘—-“3—.5(‘2“ co) sl 3 JdeY a5, ( —o0 “2“) s 3l oa Jiw jaiD
B) concave up on (0, oo ) and concave down on (-co, 0) x = 0 is a point of inflection
X =0 2c (alaad) dlaiy (0, co) sl ot e ¥ aily ((—oo ,0) 508 2 JaY ass
0) Concave up for x > 2 and x < 0. and is concave dnwnf0r0<x<2_. _
X =1 sic Cillaad) 3daiy(2, 00) 5( —00 ,0) sl 3 oY jesiy (0.2) 5081 5 Jaud ess
D) Concave up for x < 1and x > 1. and concave down for 1 <x <1. x= 1.1 are points of inflection.




graph the function and completely discuss the graph
; : el JAl AU JSdy B A AN Wil
X =2x +1

e
=
I

/
|II
L
J
F
/
25— /
Fd
..f.
T T LI L L T
24 -1 <08 WO OB 6 T4 22 40 4B
'a’ -
oF
/ o]
/
/
/
/
f 80
/ 4
- th—
75—} | | . |
1 | | - |
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. | f | i |
so- f i |
. | f 1 0 f
3 / | |
b { | § f
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1 \ s |
Jaf | S — |l |
1 /
Fi
e T L T T \
- F|' =1 4 i ) \ 4
| . 1 AEEEE LIAREERAE-«“REREERAREERERE
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Find the horizontal asymptotes of the function adiall A38Y) o lAS) b ghd #!-J:'

N ox
A) Xx = 1 f(l)_x3—x+l
.
B) X =0
) y =5
D) y=0

rd

find a function whose graph . _ g
; 22l b Lalds |
has the given asymptotes. = lll bghs g‘L:-f-' blich g db oo

x=1,x=2and y=3

2
) Fx) = x2—-3x+2
b - 3x?
)f(x T x2+3x+2
3x?

N = ina+2)

2

d)f(x) = TENCED)

 osussis e i




Assuming that the charge in an electric circuit is given by the function
. find the acceleration allally  uoi dunpe il axilall 3 aindiall al es2)d e
Haill aggl

Q(T) = e'(3cos2t + sin2t)

A) Q'(T) = 5el(cos2t + sin2t)
B) Q'(T) = 5e’(cos2t + 2sin2t)

C) Q'(T) = 5et(cos2t — sin2t)

D) Q' (T) = 5et(cos2t — 2sin2t) ?

Assuming that the charge in an electric circuit is given by the whei dupedll axlall 3 aissill al aoys e
function allally
, find the acceleration Jlill & pladly anlill aHAL doas asgl

Q(T) = e 3tcos2t + 4sin3t

a) thetranslenttermls(,,u\) e~3(-3cos2t - 2sin2t), thesteady-state(qmu)ls: 12cos3t
b)thetranslenttermls(.,wl) 12cos3t, thesteady—state(u,w)!s: e (~3cos2t - 2sin2t)
¢) thetransienttermls(;y..n) e ¥ (3cos2t - 2sin2t), thesteady—state(wn)is: cos3t

d)thetranslenttermls(;,.w e (=3cos2t + 2sin2t), thesteady—state(a:,un)ls: - 12cos3t




aakao M1 @l aal
find the general antiderivative dsko all aag

| (3x* — 3x) dx

3 5_3 2
4) 5.1? 2.?: +C
1 4
B) -z" —2rx+c
4
' 3
C) 2x3/2 4 1‘_ s
3
I gyl y9pl/i2 L, A

fnd the general antiderivative daudeo il @Il angl

2x_z+i)dx
A) 2335_‘;332'1—6 /( \/;

1
B_) Z:zfl —2x+c

- -3
C) D32 4 % -

D) 2471 42212 4 ¢
msllaed | Gsuseesis

padiall puiec Ml eaall




Determine the position function if the velocity function isv(t) = 3 - 12t and the initial pesition is s(0) = 3.
v(t) = 3 — 12tagaiol acpmll alls o 31 axildall allall sas
5(0) = 3 Jlauligagally
A) 1) =3r—6t*4+ 3

B) s(t)=3t+6t>+3

c) s(t) = —3t — 612

D) s(t) =3t +6t2 -3 w

compute the sum 6 sonanll exmsl

A) 273

B) 135

C) 160
D) 170




compute the sum gonanll cuual

2 (=3

=
A) B nn + 1)(2n + 1)—3n+1
6
B) n(n + 1)6(2n + 1) -
c) n(n + 12)(n+ 1) g

nZn + 1)2n + 1)

D) - Y ﬁ

use the given function values to estimate the area € aalmnll pacil olhoall allil pao padiml
under the curve using left-endpoint and right endpoint o . 1t & leill @i pud plasimls iaiall
evaluation. T : e

onll ylaill i

X 000102030405 )|06)07]|0.8
fx) 120|124 |26 27|26 |24 20|14 | 0.6

a) L=181R =167
by L=1.67,R =1.67
¢) L=167,R =181
d) L=181,R, =1.76




computeL f(x) dx f:f(x) dx exmal

f(x)={2x ifx <1

4 itzx>1
1 4
A) J 2x dx + f 4 dx
0 1
B -
B) J 2x dx — f 4 dx
0 1
1 4
C) J 2xdx — f 4dx
0 1
1 4
D) J < dx+f 2x dx
0 1 &
write the expressionas a single integral. spdin dalli S .i]:.l.:i" C.l.i‘i
2 3
f f(x) dx+f f(x) dx
0 2

A) § Fim)i

C)

(
0

B) [ fx)ax
0
[ () dx
3

4
D) f f(x) dx

padiall pisc 3l enall




3 3 =
assume that fl f(x)dx =3 , fl g(x)dx = -2 al e2ps e

flg( 2f(x) —g(x))dx =

A) 1
B) 8
C) 5

D) -17 }&m

compute the average value of the function  gpygig)l dnsdll 1

f)=22-1,[1,3]

A) ;
B) -
C) ?
) R

padiall pise 36N il




find a value of c that satisfies the conclusion of the Integral Mean Value Theorem.

A)
B)
C)

D)

compute

A)
B)
C)
D)

dlawgiall doadll dsylas 3axS 1 ¢ dasd uxgl

2
/ 3x% dx (= 8)
0

rd

2
/ (X +3x—1)dx

0




compute i

t
.
/ (sin® x + cos? x) dx
0
A three-sided fence is to be built nextto a 0 paiasa) 630 jlgow Calgr B (o plew by v
straight section of river, which forms the A adldazas g pl )l ol S8 G gl

fourth side of a rectangular region. There is : : T '
iblbo)l dslud) sl )l o> rld! e
96 feet of fencing available. : T 9% ft

Find the maximum enclosed area and the Al aig) bl rloal sluly pladdl
dimensions of the corresponding enclosure.

padiall pisc 3l enall




A two-pen corral is to be built. The outline of the

corral Llaaa JS3 5 pla e gsSe Jalaudd oliy s
forms two identical adjoining rectangles. If thereis  &la SIS 13 (o slate puillse pulilaiie JalaYl
120 ft offencing available, Learars Sl Slas¥) & Lad | 5_1_}__-*.1 120ft
what dimensions of the corral will maximize the daleal Jalas¥

enclosed area?

A box with no top is built by taking a 6"-by-6" piece

Bosll Oe 4alad 23l JeW) fa 7 glie Gaata clu o3
of cardboard, cutting x-in. squares out of each corner

S e Alay e pad, 6in B3 6N Lgsnluu;_am'

and : =

2 . " il al v i, k«'] -4 rall '3 =! 2 1) | _ i = | B
folding up the sides. The four x-in. squares are then =443 =204 Silazal 2l J"'-"z“:’-’-z-’
tapEd é—]':'\ji e C_}jlﬂ) I_'ﬂ‘n_‘ 1&_,.‘..‘.....: JS..JEJ e X% In
together to form a second box (with no top or bottom). ( Jadls
Find the value of x that maximizes the sum of the P D TEmm -
volumes of the boxes. Gelrall slaad ekl desll ziat Al x daS

padiall pisc 3l enall




A 10 ft ladder leans against the side of a building
as in ex-ample 8.2. If the bottom of the ladder is
pulled away from the wall at the rate of 3 ft/sec
and the ladder remains in con-tact with the wall,
(b) Find the rate at which the angle between the
ladder and the horizontal is changing when the
bottom of the ladder is 6 ft from the wall.

Euppose that a population grows according to the equation
b'(f) = 2p(8)[1 - plf)] (the logistic equation with r= 2.

Find the population for which the growth rate is a maximun
nterpret this point graphically.

a1 e ila o 10 ft Jsh ale S5
3 Jasas )'l.\:_..\l;,p'a.]..-.]l,_',aq_‘i_“ﬁ)'#h._\h
Saall Ll ALl i ft /fs

oY) ey alldl G gl 1 s Jaes 2a
Slaall e 6 ft ’:.L..J'I A Ladic

T || alsladW (0 = 201 = pi)] aladls sy ___,';li...J‘ pad| »J'-. N Tl
pobaall dad)) g puidl Jana 4d 09y i) ! Sl ae (r=2 plasid,

paiall piae MMl eivall |




use Riemann sums and a limit to compute the exact area under the curve.

el G L)) L)) ded slaud Dilgsy Oles) Eaee pasul

y=x*+4+1 on (a) [0, 1]

find the derivative f'(x) F/(x) Aliad aa

-

flx) = /‘A sin(3t) dt

padiall pisc 3l enall
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